CET 12" Level Answer Key 1st Shift Dated : 04.02.2023

1.

10.

Qﬁuéwwma,%«ﬁmﬁ Taa gt
ST gl

(A) wigfem (B)?’ftﬁm’lﬁ?

(C) fa=tizfam (D) vgfA= [c]
FH AT U Al9-39 fiier &2

(A) 3 Tt (B) Sfe Afea

(C)sH (D) AR (D]

Choose the correct Hindi translation of the
following word from the given options:
Domicile certificate

(A) ug gHoT Ux (B) 3mar wHIOT UF

(C) g= Raft vy oo (D) &= wHmoT U (9}
2.2 g9 3t #ft dtawt &t 0.5 It agrw F ISNFER AR
# @tay |Avar @, at R &t oad @

(A) 56m (B) 112m

(C)224 m (D) 448m [B]
Frafaf@a § @ ata-a1 & g adaifRs mé @ ?

(A) O+ (B)O

(C)AB (D) AB+ (D]
Rt @ g gy Y Za &1 9| Farzd)

(A) wardiz (B) fR=nifA=

(C) PR (D) T (D]
AIfFT I d FA FIS FTIERE fFar AT ?
(A) =tF Ao (B) di=

(C) Aerey (D) Ok« (B]

The Heading in a letter consists o
(A) Salutation

(B) The writer's address and the date
(C) The reference

(D) The subscription [B]
mawalze # g g & NS THae GIsA AwiearT &
Sdrsraend! &

(A ) wavmid ®1Ee (B) .wav gif wrsat

(C) .wava jpgwrise (D) jpg d.gif wrget (A]

Li 3R Mg & fia aa=ar frawg @
(A) TR smafaes v

(B) 37 ferra ¥TeHas Ul

(C) 7 3= & Imar & FHEAT
(D) I grEETRITSS & srgerdferan

1.

12.

13.

14.

15.

16.

17.

18.

q&A w3t A Iat uiearga aaan w1389 @

(A) g &Y TTTET HAT

(B) 8@ ASTIR 3aTR IUTY FATT

(C) IushHl &Y WTAT FHRAT Te A8 TR 3GER Juefss]
FHGMET &A1

(D) anffan srEmTAATR &Y T H EHRAT [C]
qAe aif @ gH fraa srmga FA € ?

(A) S sfiafams (B) 99 e

(C) yrrr&@=wor— (D) 3ryafafr (D]
T & frait ar agafa |- & faar mar?
(A) 2 (B) 3

(C)4 (D)5 [c]

3
uﬁsina=z dq cos a FTAF R
I

|
(A) 2 (B) 5
(Q) \{75 (D) \{1—7 (D]
A= A @ e oer Y Zazal g & R &
et &2
(A) afaieft (B) dierer@
(C) yawet (D) dierureht (4]
afe x* + kx® —2x — 24 &1 & UFHEUS (x-2)
g A kaTAER?
(A)2 (B) -2
(C)5 (D)-5 (c]

RN g’ erez-gre & |t ard 1 9= Fifrg -

(A) g - IR (B) g% - F&dl

(C) gpe - qm (D) Ty - g (D]

fFad waT w7 e A F @@y @ v

AT go?

(A) T fre=fls (B) reT SHTHTS

(C) Tron =ufdig (D) T gHafdig (D]

A d @ 9T oYU & agent Ftaen amuia
IQTEA HEA@?

(A) it g ardtg i das

(B &1 dydya il da

(C g St 9=

(D) TRame adta Foif T
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20.

21.

22.

23.

24,

25.

26.

27.

favem 2t ot dfeR fr fonet o srafeda @ 2

(A) amR (B) 3198

(C) AgzrTg (D) =g [A]
TIEYF | daEdl a9 @aedr &1 R R
Yaqdfa gtern & siaefa favar mar ur?

(A) mm (B) fadta

(C) g (D) agd (B]

Tai gar a4t 4 e @2

(A) SwrEfeta geragR (B) quiardt AT

(C) sigurdt FeTeER (D) yHemanRig [A]
Choose from the options given below one
word for-

someone who walks in sleep:

(A) Philogynist (B) Somnambuhist

(C) Recluse (D) Termagant [B]
gﬂaha:raﬁm ey ST ag It wu @
(A) BehTEE (B) &R

(C) ettt (D) & At [C]
AMEA: T 7 4 SR Fforaman fY w&n are sfR
Fforarait Y gern

(A) TR gt 21 (B) Sm2T gt 81

(C) == gt 81 (D) W& I & 81(C]

gfe 5 I3 2020 =t FATIR 4T at 24 TR 2022 *=t

e fem ghm?

(A) FEr (B) GiHaR

(C) "irerar (D) qeremR [B]
Pefaf@a & @ a9 @1 y" ao a9
THTIYRR 1T & ar & |98 T8 &2

(A) a8 Qo 9g Tcfig o ¢ [ad e g af s
TR A 8

(B) Srezgl S=aqH 1ATed o1 AaTAg Ararefian gia 8|
(Q) T

Jryen AfSTEe gt srar R el

(D) srwme @ orq Tl gl ek g &t ot 2
(B]

28.

30.

32.

W’ A | F FHE FTF 8-

(A) AT ISR I&AT  (B) U1 TG FHLAT-

(C) wrza g (D) Rewdtd T [B)
faaa aeon & dahde St s &=t ST 8!
(A) Tefter (B) F &

(C) S ey (D) uahet Tax [A]

T | Toreu™ ® TR At f o s=e

(A)6 (B)7

Q)9 (D) 10 (D]

Go through the following poem and answer
the question given below:

O Rose thou art sick,

The invisible worm,

That flies in the night

in the howling storm:

Has found out thy bed

Of crimson joy;

And his dark secret love

Does thy life destroy.

According to the poet, the main idea of the poem
is:

(A) The poet praises the secret love of the worm.

(B) Wicked people win the battle.

(C) Innocent are helpless, they suffer and give up
their life.

(D) The beauty of the Rose is immortal. [c]

R 7 840 T T aTelt 2a« &t 10% & T & Y
&l A1 § AR W 38 AR F 5% Fif g1 wz I=Tan
&1 2aw o1 Sifam g gea @ ghm?

(A) 877.80 (B) ¥ 798

(C) £ 837.80 (D) £924 [A]

fF=ifera d @ roeus & aF-3 59 @ glaR &b
?

(A) TR (B) Rt

(C) argaT= (D) Fremare [c]
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Join Telegram Group "HaryanadJobs.in"

34.

35.

36.

37.

38.

39.

frem gfag :

(A) 3M@rdt (ORACLE)

(B) T ar$ T8 = T (MYSQL)

(C) wH ug uadg (MS ACCESS)

(D) "t++ (C++) (D]
A= ard g FT srmTA R R us IR €

A = Paper (ITH)

B'= Advertisement (R¥a)
C = Binding_ (a5f¥m)

D = Printing * (F7W)

E = Royalty .((aw)

F = Miscellaneous (fafae)

(Expenditure chart)

(@d =) -

Fzf=3n &Y anden fAmas @R e ufdea s a
feme?

(A)2.5 (B)9

(C)3.8 (D) 10 [A]
'# g g SATEM SH AR GH E -

(A) Reygaras (B) Geeratach

(C) AStemas (D) ugraras [C]

wq fRelt ga @t d<ft & guran s @, at |ua For
2 aw g FU FWR ER 81 39 QT &1 g

orar s &

(A) sroF=o o (B) arifrd srgas

(C) arsdiepzur & (D) fRae= # [A]
T wfRer sl & admE sier @l #2 18
et 2022 & IER)

(A) Tar eraf (B) wiferar gmrETTe

(C) <. s @y (D) shhact ¥@r 2maf [D]
HRA # ‘1" afRQEAT Hd AREH i 1E ot ?

(A) 13, 1973 (B) 1 3w, 1973

(C) 1 am, 1972 (D) 1 &7, 1972

40.

41.

42.

43.

45.

46.

Tu= | fORe wreaw § e R areft gy & o
faor & ford S snad= &lur, hifds Hior & aTrE]
g e, ag JgTtT For g e

(A) 0° (B) 45°

(C) 90° (D) 180° [c]
fre fFam sn=lva & @< & ¥ st & e
forar mar an?

(A) &7 ar=iera (B) farsiferar sm=Yem

(C) sreTaR IT=IeT (D) FErT=rT (A

If logz (x +1) = 2, then the value of x is: afZ log;
(x +1) = 2, a9 X FT A &-

(A) O (B) 2

(3 (D) 4 [c]
arerra TR = &, @ sfEen asy gt @ -
(A) TreUTdeh 9 (B) Sigwtas &

(C) s e @ (D) &Y meett @ [A]
"EReN st I9tE ey ooy J gl [fda 8-

(A) Stergz (B) Treft

(C) age (D) SraemR [B]

39 ufdgR aEE &1 T Fazd o\ T Fae et
& T Fg R Gy T afsh IAF rEH Ht

373 Qo & oft g fdam
(A) mTeTg T B) 3R
(C) a7 (D) rmg f5dta (A]

Choose the correct direct speech of the
following sentence rom he options given
below:

He ordered them to lock the door.

(A) He said to them, "Please lock the door."

(B) He told them, “You locked the door."

(C) He tells them, “Lock the door."

(D) He said to them, "Lock the door." [D]
SuR T ufg T R g ?

(A) T @1 2R

(B) S/ @ AT Ut &1 ary

(C) st et

(D) gtwar (B)
A=afaf@a & @ w179 2reg yeagss 82

(A)gwae (B) 3rAwor

(C) §aneg (D) FRam
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49.

50.

51.

52.

53.

55.

56.

fra wagg & @t faew arez @ wan gan @?

(A) R=1 - &lg (B) a7 - d=A

(C) == & (D) &g TR (8]
3raTg ufthar &1 & & aren RRuse wits 8-

(A) AUG (B) UAA

(C) UAC (D) UGG [B]

Change th following sentence from the active
voice to the passive voice.

We expect good news.

(A) Good news is expected.

(B) Good news should be expected.

(C) Good news must be expected.

(D) Good news was expected. [A]
30 HQTFZ@T, 2022 & TORIE & AR Ag # U A
FEIRM G g 141, g R 38 o= a9y mar ar?
(A) T (B) w=g

(C) grazad (D) @t [B]
Tk M o1 @1 0.7 A 21 Tah gr=ft v St | 3000
M guf &7 | W g argr R san @, at

g RaeR ot gt 1 Smaaa @ SET 7 = %

(A) 539 9 I (B) 530 a7 &t

(C) 439 g9 &+t (D) 430 g | (A]

ITER-7 (ASCII-7) FIf3n RA{ew & fFraA waed g
82

(A) 356 (B)13

(C) 512 (D) 256 (B]

15, 17, 16, 7, 10, 12, 14, 16, 19, 12 quT 16 &N
aTf T T J1ed A 72

(A) 16, 18 (B) 16, 14

(C) 15,14 (D) 15,16 [C]
fFP=afaf@a 7 @ e [acg § @t g caftramms
qaqrgr

(A) T, a3, =mam, gieft

(B) S, gedft, Szt =ies, ad
(C) F=W, 7yar, g1y IO

(D) 71, qrerTE, 7Y, @

57.

58.

59.

60.

61.

62.

63.

65.

66.

SUR & THEd uST & Rafor .., 3 FeEman?
(A) TBRNIT GERRE

(B) meRTeT gIa—afdig

(C) werRwST Mg

(D) HERIS Sty fEda (A]
IRTFH F ZEH FEd Fft A8 22

(A) TefRER (B) &g

(C) sraere (D) arrg (8]
oy # P faf@a seag i d @ e aad@
&9 aiffs auf urng Fware?

(A) BShw (B) Swg

(C) BWhw (D) Aw [c]
SEHEETE H ................ TsETg At gt fahar
™™?

(A) 343 (B) 35d

(C) 364 (D) 379 [c]
"SHAR' AR | TN 82

(A) Hug (B) dcqew

Q) z3 (D) sredtasma (B]
gt are & wateg faar 8?2

(A) IrArgd

(B) qerdar

(C) mg=A

(D) TefImR [c]
M= @ & nfRAfRfI &1 &= 1911 Ta 1912 &
........... qr?

(A) E=R (B) gy

(C) gz (D) Wer [c]
A fefAR Seteh weafa & 2

(A)=g s (B) gdet &

(@Esck:o (D) g & [D]
20 e R, TR & § qvuur &2
(A) 39 (B) 40

(C) 41 (D) 44 [C]
V16129 @ a5 27

(AY117

(C)123
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67.

68.

69.

70.

71.

72.

73.

74.

75.

g 71 JfUFR srat sraar arfdes ufadaa wega
Harg?

(A) T AT AR S Bt

(B) I=g <Y Y

(C) TST TR &t
(

D) Jwq & Agiaadr &l

[c]

99 & 19 91 §1 o &t sifestae MuTs F agerdn
&?

(A) ALU (B) et afe

(C) A= (D) U& arRy [c]
Frafafla d @ 19 a1 sranfs or wefefa war @2
(A) Al (B) Be

(C) grey Sn (D) Mo [B]
QAR 50 UTghd FEQrHt T anT @ ?

(A) 1000 (B) 1200

(C) 1275 (D) 1525 [c]

afé 'CLOCK’ &t ‘34235' R ‘'TIME’ &l ‘8679’ &
Ffea frar s &t ‘MOLEK’ & forg arts aar ghmr?

(A) 72945 (B) 72495

(C) 62945 (D) 62495 [B]
qEY 3481 & EFR oA arelt faRvot Ieaa 9 &
YT & T oI @2

(A) 7&g BT 4 (B) srafkafda

(C) yemfYes g @ (D) aare=s & [A]
ASRYTA § =101 1 U2 i {ira gsin ul.

(A) 1992 (B) 1977

(C) 1982 (D) 1973 (D]

Fill in the blank with one of the correct
options from the options given below.

It's time they ............ working on the
project.

(A) started (B) start

(C) will (D) would start [A]

Choose the words which re nearly opposite
in meaning to the underlined words:

Opaque

(A) Cloudy

(C) Blurred

76.

78.

79.

80.

81.

82.

‘gafNareT oreg & Rt GfY 82

(A) Tor &fy (B) gf& #fa

(C) & wfer (D) fagrt &f [D]
fafaa § @ Sfaar w@a wgg & ‘qdear @2

(A) A (B)B

(C) AB (D)o [D]

‘W qE F HFER g w1 Aad d FEfda
eifs &2

(A) &nr1 ammg sfifea ar

(B) @it gsit eoft &t @t

(C) a1 3@t dat it ar @

(D) 34 dfg 7aRA St el TR [D]
g} & A9 giavuige &1 g RQaeq 381 82

(A) anJeamza & (B) A =g,

(C) wze @ik =g, (D) =iz M g [A]
U A H 567 F WA A F. 5, 3.2, 0@ 1F

Rad @gudlaR gaaf s 2208, A A d .2
& gt & Jear @ ?

(A) 30 (B)35

(C) 60 (D) 120 [A]
‘g’ Rafaf@a aRat | rad agras 748 &2
(A) som (B) wradt

(C) merad (D) wgr=éy [c]

Uh aR 98 At ST & gead & TR FT @1 AR A
ua o g=may mar @1 &t iy ga e i s dad
Far g?

(A) 148 aft (B) 152 [t

(C) 154 aft (D) 156 &t [C]
F-AT T TR @ $e e R RAf Y= R 6 3=
13T 3@ J Heg A g?

(A) Rreew v (B) @Rk gt

(C) ISR waw (D) & g5 [C]
CD-RAGFR AT CD R BT &L ... ?

(A) RF ge aR Ug1 ST qa1 &

(B) &% IR Uel, R At ua aR for@r s gadr g

(C) R ga R Tgl, 1R @s IR forar 511 qeha1 &

(D) U &R forar o qd1 @ (B]
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85.

86.

87.

88.

89.

90.

91.

92.

93.

95.

96.

97.

Pt axg a1 st 3 Rafda nfafde ara famar s
TohdT 82

(A) Icat TUoT gIRT (B) 3r@ae 4u1 gRT

(C) gudd adur g1 (D) 1aqd o gRI [B]
R ufehar & Iugad J1gA R IETS fFra=n o=t
garg?

(A) 4500 C, 3= (B) 45°C, fe=

(C) 150° C, 1R (D) 3000 C, Re=r [A]
MRA & A3 FIERAA HfF TS sHAAE Rad
& ugeht afgen wefeas a9 82

(A) g5 T[T (B) X7 ge vt

(C) sargen mdrer (D) srteT sty [A]
& TAA aret e 1 TR Hfg?

(A) st (B) e

(C) 3r=qufF (D) Sideram= [c]

af} g @R gR1 = 7 werd & aard @ Hir
arard & /3 TN @, &t g @ A e @2

(A) 300 (B) 45°
(C) 60° (D) 90° (A]
JASTEATH & AN FATATATH «.vververeannens & fAad &2
(A) &gt (B) <xst

(C) garharsht (D) wriaie= (8]
a3 A (3, 7) awr B (-2, 1) = o™ areh @ &
TAH8?

5 6
(A) g (B) gl_
| 6
(C) g (D) 7

RA=faf@a § @ F9 e afWFor 3 wichaEm &
I Frd a Icaarfdca We?
(A) TSI QI Qe HUTEed FasTT, SagR

(B) RdT qard~a aderor, 73 el

(C) 3anA ahictst, got

(D) At Rrsafdemea, sitefam [B]
JuE & A= F @ e Ad & e g

pleal

(A (B) TR

(C) 3R (D) TR €]
gfta afgm &t AR Teidl @, 7€ ardi 3k gear @, e
ardt ok s IR q: ardt Ak aun e et ok gd
d A i ok aetan 81 ag fFa Ran d s gra?

(A) Ica= (B) gfgyor

(C) ud (D) ufEw [D]
‘araneft’ & sywor (AR fra Tu= & uiRg &2
(A) FTagrr (ByRcdteme

(C) AR (D) ST [A]
ATAGA- At AL WTT 82

(A) T I@F =T (B) grrt @ &1

(C) ardt A= & (D) &1g fq= @ [D]
Fill in the correct article.

Heisnot ............... honourable man.

(A) an (B) the

(C)a (D) no article [A]

98.

99.

100.

101.

102.

103.

106.

107.

108.

109.

110.

zfeeiy gfRdun ag g gt e wa :

(A) foreft axg o1 ufdfera gtmuea & di8 fdh fag W
WS ghar g1

(BY forelt =g o1 wfafema gfduea & amt faheft fog
AT gl 81

fCr A g ST 81

(D) it Y amepfa mifera e el [D]
Iy § @1 §N9reg & FAA & waey R
nfafiQ & =18t &2

(A) 2} g 3ot ot TReror FeT

(B) SToA-gqreT ol facrg

(C) geyrgor (D) ¥t FRrarm (D]
30 fAamaR, 2022 #1 684 TG fohew qreart & a1at
TTed FIed REHER & fFa gw=faa e man?

(A) agter A= (B) 3mam g

(C) & TR (D) 3mem oftger [B]
IrTEYT & fre d@weg & e gt g1 o
forar SITan @2

(A) grguy (B) sramreft g dwerm

(C) I Twera (D) farentg gwera [B]
w1 313 (93T fanywor qaR fastar 2022) g = @
qafaa €2

(A) B B) siafR& mell

(C) gt T (D) sRdfg =g witd D]

oI 1 wfAE g A R uwim & fhw A |
T 8?

(A) e (B) wreT

(C) fd=m (D) &3 (c]
'Ranfa ez & forg adh st e aar ghm’?

(A) Discrepancy (B) Discretion

(C) Dismiss (D) Disorder [A]
f&a gar it Rt 1 Igain fhdhe &1 aoen AR &
fore oy smar @2

(A) T (B) et

(C) & (D) o= [B]
T4 ga apteT & wpdh-raf Feht il ardt 22

(A) aret (B) Aardt

(C) grexdt (D) s [c]
‘SAarg UiRdda+ wesf gaa@ia (CCPI) 2023' # wRa
= 8?

(A) && (B) gradt

(C) st (D) it [c]

L+MararefL, Mam wis 1
L-Ma&ad L, M@ g 81
L+MaTarfL, MP o=t @1
LxMaTaf L, MaTfRar @,

d Pafaf@adafFaa sid g xR, TH qar @?

(A) R=AXS+T (B) R+A+SxT

(C) R+A-S+T (D) R=A+S-T [A]
forg ad & e A ama=-1 BisT Ut ?

(A) 2007 (B) 2008

(C) 2009 (D) 2010 [B]

Choose an appropriate translation for the
sentence given:

She saved money for a rainy day.

(A) 397 aiRer & fAg 44 <=y

(B) 384 +fim @ 91 =g

(C) 357 & &t o3 & s

(D) I8~ PR awh & forg &7 =R D]
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111.

112.

113.

114.

115.

116.

& 2 apoft & T U 8-

C,E,HL,Q,?,

(A) U

(B) v

(Q)w

(D) X [c]
399 goft & g g-

(A) U=rarge

(B) fegfa=

(C) fomamze

(D) die [A]
i qon dew ATl & @ w A e e @
(A) erTg fahen

(B) ZreTig fohemt

(C) Rixtee faFen

(D) ZoreredR faren [c]
fA=fafa@a & @ Fa area & sreds fovar &1 wam
forar mar 82

(A) sfaw s @A gl (B) a4 urht bt @1 81

(C) T e 2@ W@t 81 (D) ag IR At ¥ani  [D]
HerrR faen @ gafea g areht 78 &1 a1 @8-

i (B) 7=eT

(D) =i 7} 7 [D]

Prfafla sngfd siaen &t quf $ifr-
< N/ S| 2

r

@ [N o®

(C) o

]
AN

© | /IN D)

117.

118.

119.

120.

121.

122.

Complete the sentence by choosing the
correct préposition from the choices given
below:

What's the time........ your watch?

(A)in (B) at

(C)on (D) by (D]
AR & & ) 3w Taa agi &2

(A) Sreamr (B) S

(C) Fam= (D) X (D]

A ABC awi A DEF & afy 48 _BC _C1_3 q 3%
DE EFE ED 5

TG T HJATE ghm-

(A) 9:25 (B) 16:25

(C)s:3 (D) 3:5 [A]
giftepor g

[\ x+my+n=0

fzx+mzy+n2 =0

Gl LML et g el

/, m, n,

@ g-

(A) FET=R (B) wurdt

(C) ev=ad (D) ufe=ad) [A]
fA=fafaa & @ Fa agar 7 smaw e afeai a9
F St arvgin [gt gar an?

(A) T8 (B) wreft=am

(C) defiemm (D) motsar [D]

G fERIWg I N wafFag aa d
YHUT &HaT 2?

(A)36,000 i, sFeaEig ad

(B) 36,000 f&hfl, sgremd@dlar aa

(C) 36,000 forsft, syt @@

(D) 36,000 ., ydta g [B]



CET 12" Level Answer Key 1st Shift Dated : 04.02.2023

123.

124.

125.

126.

127.

128.

129.

130.

131.

Z 3R 7y faté 2022 &1 waiAdf 82

(A) fasa d=

(B) 9g&a g yafavor Frdewy

(C) farza anfefen

(D) frm (8]
TSI ¥ U1 g91adl ht e TEar @?

(A) 10,890 (B) 12,560

(C) 11,283 (D) 13,443 [c]
FIfrARER HHAR @R I=at | g6 g Hhar F @

T e?

(A) <1 ad (B)1-4ad

(C)4-6ad (D) 6 - 10 adf [B]
oY wieh Qa1 HGW & & &l Ug Q@ g o
gaarg?

(A) TsTUIA & GRT I=0 AT & ST & d18

(B) Tfa & gRT Fatea =T & Sid & a1

(C) faem g1 & Tgf¥ahT wedig & dgd AU ZRT
(D) @9 & wgIfght g&dra & ded I=ufd & )1 [B]
gd d fheft eafeh a1 sifQard) &t Wt g 9= 1 s
T A TR S TWROT-GF VN ST 8, IR dhed 872

(A) uRTx (B) fasf@

(C) Rfdr (D) SFIEIRT [D]
Tk gt it A F 1% Hredr g, A I/ Tt &
STA & AR Y T wfasdan e ghft?

(A) %% (B) 1%

(C) 2% (D) 4% [c]
Fraifha & |@ S 999 aAga garda & =g
T 8?

(A) srager @ A R (B) RRamar @ wead®
(CQ)aem A R@aar (D) wad @ A A [A]
QA g, aoreds awa § ugeh Rger Rum g
ens HYF Ry I F =12

(A) gt (B) et

(C) szt (D) deet (cl
TR 713f 2 Iegq 1 GRATSE Hh3TH Y A=
e | g wfaf 4 22

(A) A= | (B) arremeer &

(C) wfr & (D)= [B]

132.

133.

134.

135.

136.

137.

138.

140.

af} ga =1 12 ad F wruro @ fi ® |/ g
& St 8, ot ag af fra ant & far ghfie

(A)18 ad (B) 24 a

(C) 30 a¥ (D) 36 a¥ [B]
Qi & feua 82

(A) Sre=un=d uesr # (B) 3rgw &

(C) fafwrm & (D) ScRrRave § [A]

fA=faf@a § @ 19 1946 F wra Y dfaur= RAafH
FUTHRRYR & ufaf?fQ & w0 3 gaida R m
Y?

(A) fasafdg ufden (B) Sftarr<t Amgur Agar

(C) e amrsft (D) mtgaee g@ifem  [C]
gy Rew Fdma fra ad § arg fFa mm
ur?

(A) 1977-78 (B) 1980-81

(C) 2001-02 (D) 1984-85 (A]
8 A o qu & wgah @ IoewR A FE
IgSeuTE A FUTfoa o &2

(At (B) et

(C) grarars (D) SR (D]

B IS ot o fRe FRrge favan mar?

(A) HERTST FaT$ Al

(B) FgRIeT Uiy

(C) mgRmaw -=fds

(D) HgRIaw J&qoiig [A]
Choose he correct Hindi translation of the
word given below :

Ragistration

(A) dftepr CkcicTyl

(C) €fdar (D) R [B]
I g & 9T wfieasg sadwt f 11 Rawdig
nZ2fft &1 @t wRa IR gRr fRay wan ar?

(A) T & (B) ursdtvg §

(C) aferm & (D) sftcienr & [c]
fAeafaf@a & @ Fiar Seam dfat @ off a=f=da
22

(A) Tm2ash (B)

Il <oic Dol (D)m [D]
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141. 3o Ve it wRE Ruié 2019 & 99K ag I=q
(e anfAa wexr adf) gl a=v &= a1 ufasa 9=

A &, TE 87

(A) do" (B) IoRer=

(C) &Rarom (D) IeR W [c]
142. f=faf@a F @ e e« Gau= A1, A2, A3 3R

A4 B F1 gt @ & oo agdt &2

(A)=sum (A1to A4) (B)=sum (A1; Ad)

(C) =sum (A1 : A4) (D)=sum (A1-A4) [C]
143. fFAEfaf@a & @ F=ar a8 gafaa ad 82

(A Ao @& : A= 15

(B) @ & fAwfor a1 ifda © =% 19

(C) Shta=t & zen &1 TR : I3TBS 20

(D) Haenes ITart &1 3R : g% 32 [c]
144. fAafaf@a A @ g are a3 &t 39 off g Sar 82

(A=t (B) 3=

(C) 7z (D) gift (B]
145. faarg WEUA ... Hyafam @2

(A) sTmara T (B) smTens sl

(C) *ymam fawoy (D) wmars fa [D]
146. HIHfEN TETAR & IUTY HiE TIFHA TAAR F IqeTey

AR 3R A VTR G-z T FT 8?7

(A) 6 3R 68 (B) 8 3R 68

(C) 6k 72 (D) 8 3R 72 [D]
147. frg RA &t yra F 1dMa e Raw & 0 F gaman

STTar 8?

(A) 15 SHad @Y (B) 4 Ra=R =t

(C) 31 SRR =t (D) 8 Srargar ! [c]
148. =g WA - TAR | T~ fATTFR &1 T 3?2

(A\) Troer e (B) srgren wifrs

(C) Fcaw wirfrs (D) =R 3gTT (*]

149. onfda @ften 2021-22 & gER 2021-22 #
AU & AR (2011-12) FHAT R T AT R

Scure Y FfS i < @ of?
(A)-5.2 (B)3.2
(C)6.04 (D)11.04 [D]

150. 9 S&AC 2:3:4 & HIUTA H & YT IqAHT HEd 39
2, o wa ot geard?
(A)13 (B) 26
(C) 39 (D) 52 B





